Midterm#2 Review - Part 2
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Dr. Tabanli's Past Exam Question#1

Wednesday, September 30 ,2020 5 :22 PM

Find the value f k that makes f continuous at = 1 or determine that no such value of k

exists. If ther o k value exists, write “DNE”.
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Dr. Tabanll s Past Exam Question#2 .r(l) is iere oot

Wednesday, September 30, 2020 5:22 PM

Evaluate the 100 or determine that it does not exist. If the limit does not exist, write “DNE”.
e . . .
You must use proper calculus methods and notation to receive full credit.

lim f(z) , where f(z) =9 8 a1
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Dr. Tabanli's Past Exam Question#3

Wednesday, September 30, 2020 5:36 PM

For each part, calculate the limit or show that it does not exist. If the limit is infinite, write

“o0” or “—o0” as your answer, as appropriate. JP -7 02 . 9‘5 9 s
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Wednesday, September 30, 2020 6:10 PM

oo X~ +x—6
Let f(x)= .

X —x-12

a. Determine the point(s) of discontinuity. Write the interval of continuity in interval notation.
b. Determine the vertical asymptotes of f(x) if any.

c. Determine the horizontal asymptotes of f(x) if any.
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